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Question Bank

1. Glucose or sucrose are soluble in water,

but,cyclohexane or benzene (simple six


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bgv8R6Gy8TOe

membered ring compounds) are insoluble in

water. Explain.

° Watch Video Solution

2. What are the expected products of

hydrolysis of lactose ?

o Watch Video Solution

3. How do you explain the absence of aldehyde

group in the pentaacetate of D-glucose ?


https://dl.doubtnut.com/l/_bgv8R6Gy8TOe
https://dl.doubtnut.com/l/_lX5KyV9QEcDx
https://dl.doubtnut.com/l/_ZpTwdELwjBl7

° Watch Video Solution

4. The melting points and solubility in water of
amino acids are higher than those of the

corresponding halo acids. Explain.

° Watch Video Solution

5. Where does the water present in the egg go

after boiling the egg ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZpTwdELwjBl7
https://dl.doubtnut.com/l/_tj4xSreewBOK
https://dl.doubtnut.com/l/_HvrgHx5v0Ij5

6. Why cannot Vitamin C be stored in our body

?

° Watch Video Solution

7.What does products would be formed when
a nucleotide from DNA containing thymine is

hydrolysed ?

° Watch Video Solution



https://dl.doubtnut.com/l/_HvrgHx5v0Ij5
https://dl.doubtnut.com/l/_XbHWZmT7KB1T
https://dl.doubtnut.com/l/_dTp2hbj1Uog9
https://dl.doubtnut.com/l/_UpIxUEqOrwtY

8. When RNA is hydrolysed, there is no
relationship among the quantities of different
bases obtained. What does this fact suggested

about the structure of RNA ?

o Watch Video Solution

9. What are the monosaccharides?

o Watch Video Solution

10. What are reducing sugars?


https://dl.doubtnut.com/l/_UpIxUEqOrwtY
https://dl.doubtnut.com/l/_UqZnlSVw9yHc
https://dl.doubtnut.com/l/_ke5DpK8paAAW

° Watch Video Solution

11. Write two main functions of carbohydrates

in plants.

o Watch Video Solution

12. Classify the following into monosacchrides

and disaccharides ribose,2-
deoxyribose,maltose,galctose,fructose and
lactose.

| e |


https://dl.doubtnut.com/l/_ke5DpK8paAAW
https://dl.doubtnut.com/l/_RfsJh6b0mStD
https://dl.doubtnut.com/l/_aiFh9osRwRnl

& Wwatch Video Solution ]

13. What do you understand by the term

glycosidic linkage?

o Watch Video Solution

14. What is glycogen?How is it different from

starch?

° Watch Video Solution



https://dl.doubtnut.com/l/_aiFh9osRwRnl
https://dl.doubtnut.com/l/_AMZevpngeXmz
https://dl.doubtnut.com/l/_3UGG01r2LuYQ
https://dl.doubtnut.com/l/_wh61ebWgb0h2

15. What are the hydrolysis products of (a)

sucrose (b) lactose

o Watch Video Solution

16. What is the basic structural difference

between starch and cellulose?

° Watch Video Solution

17. Enumerate the reactions of D-glucose

which cannot be explanined by its open chain


https://dl.doubtnut.com/l/_wh61ebWgb0h2
https://dl.doubtnut.com/l/_g7ItYOqZrDxB
https://dl.doubtnut.com/l/_J9MuMSSoAiK1

sturucture.

o Watch Video Solution

18. Amino acids can be classified into essential
and non-essential amino acids. Write one

example each for essential amino acid.

o Watch Video Solution

19. Define the following as related to proteins

(i)Peptide  linkage  (ii)Primary  structure


https://dl.doubtnut.com/l/_J9MuMSSoAiK1
https://dl.doubtnut.com/l/_W5QB78BY81wL
https://dl.doubtnut.com/l/_iOaZT0IKAMAC

(iii)Denaturation

o Watch Video Solution

20. What are thecommon types of secondary

stucture of proteins?

° Watch Video Solution

21. What type of bonding helps in stabilising

the a — helix stucture of proteins?

o Watch Video Solution



https://dl.doubtnut.com/l/_iOaZT0IKAMAC
https://dl.doubtnut.com/l/_vmJa4cONI7aH
https://dl.doubtnut.com/l/_qeunScneB1W0

22. Differentiate between globular and fibrous

proteins

° Watch Video Solution

23. Explain the amphoteric behavior of amino

acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_qeunScneB1W0
https://dl.doubtnut.com/l/_9PetoxC74TQo
https://dl.doubtnut.com/l/_wwJmDRq9PZHn

24. what are enzymes? Write in brief the

mechanism of enzyme catalysis.

o Watch Video Solution

25. What is the effect of denaturation on the

structure of proteins?

o Watch Video Solution



https://dl.doubtnut.com/l/_fNcNanNqamEm
https://dl.doubtnut.com/l/_bYRSWnJCmLk8

26. How are vitamins classified? Name the

vitamin responisble for the coagulation of

blood

o Watch Video Solution

27. Why are Vitamin A and Vitamin C essential

to us? Give their important sources

° Watch Video Solution



https://dl.doubtnut.com/l/_kxg9hkzL0Chs
https://dl.doubtnut.com/l/_74heqmJ8DHrp

28. What are nucleic acids? Mention their two

important functions?

o Watch Video Solution

29. Differentiate between nucleoside and

nucleotide:

o Watch Video Solution



https://dl.doubtnut.com/l/_qqzGyoMzOVyC
https://dl.doubtnut.com/l/_G2MdNKqTEyyt

30. The two strands iInDNA are not identical

but are complementary.Explain

° Watch Video Solution

31. Write the important strudctural and

functional differences between DNA and RNA

o Watch Video Solution



https://dl.doubtnut.com/l/_UVr3CAcJq1VX
https://dl.doubtnut.com/l/_w9NVLDDhoTBP

32. What are diffferent types of RNA found in

the cell?

° Watch Video Solution

33. "Sucrose when hydrolysed with dil HCI
undergoes inversion while maltose donot" Is

the statement correct? Justify.

° Watch Video Solution



https://dl.doubtnut.com/l/_G4rzRN7W6nEU
https://dl.doubtnut.com/l/_ZxuuLNWEW22B

34. Human hair is made up of protein, It
béhaves as an elastomer and can be easily
stretched. Justify this behaviour with the

molecular structure.

° View Text Solution

35. Amino acids are usually possessing
comparatively high B . P. Can you account for

this?

° Watch Video Solution



https://dl.doubtnut.com/l/_jsJZ6fpFjMgx
https://dl.doubtnut.com/l/_H7zDNy8xVBjR

36. During transcription DNA can produce a
RNA molecule. The strand of DNA which actas
the template for' the synthesis of one 'm-' RNA
is given helow. Write seguence of bases from
to in the newly formed 'm-' RNA strand.

'(##VPU_HSS_CHE XIl_ C14_EO3 004 QO1##)'

o View Text Solution

37.When an egg is hard bolied, what happens

to the egg proteins?


https://dl.doubtnut.com/l/_H7zDNy8xVBjR
https://dl.doubtnut.com/l/_eRHuHxcpw495
https://dl.doubtnut.com/l/_c8zBRP48IAbi

° Watch Video Solution

38. For the synthesis of protein, the
information about that protein'stored in DNA
must be transmitted to cytoplasm through m-
RNA. Write two differences between RNA and

DNA. (Hint: S=sugar, P=phosphate)

° Watch Video Solution



https://dl.doubtnut.com/l/_c8zBRP48IAbi
https://dl.doubtnut.com/l/_Mwjg4jMkqbPM

39. What is the basic structural difference

between starch and cellulose?

o Watch Video Solution

40. Synopsis of the topics "The cell and energy
cycle” and 'Photosynthesis and energy" is
given. If Cell reactions in which there is
decrense in. free energy '(Delta G<O)' are called
exergonic re. actions. Cell reactions in which

there is increase in -free energy '(Delta G>0)'


https://dl.doubtnut.com/l/_h7vdgGblKWjk
https://dl.doubtnut.com/l/_ZZ3s2dBlGX8y

are called endergonic reactions. In light
reaction of photosynthesis, energy rich ATP is
synthesised. 'H 2 O+CO 2 stackrelh I/rarr’
Organtic molecule '+ ATP '+0 2' +heat In dark
reaction of photosynthesis, energy. rich ATP
molecules convert 'CO 2' into glucose and
starch. From this a student arrives at the
following conclusions. 1. Catabolic reactions
are 'generally ehdergonic. 2. Light reaction of
photosynthesis is an anabolic rcaction.

Comment on the above conclasions.

o View Text Solution



https://dl.doubtnut.com/l/_ZZ3s2dBlGX8y

41. When an egg is boiled its physical nature
changes. i. Is there any change in its chemical
nature? Méntion the peculiar type of bond
present in proteins. iii. Explain the secondary

structure of proteins”

o Watch Video Solution

42. The Haworth-  structure of a
monosaccharide. sugai is drawn on a chart as

follows.


https://dl.doubtnut.com/l/_vN5Ng2F7TnGC
https://dl.doubtnut.com/l/_UscUicIooJV0

'(##VPU HSS CHE XIl C14 EO3 010 QO1##)'
I. Identify the compound and draw the
Haworth structure of its anomer. ii. Explain the

-phenomenon of mitarotation.

° View Text Solution

43. Glucose is commercially prepared from a
polysaccharide. i. Which is the polysaccharide
used for the production of glucose? ii. Name
the process involved in the formation of

glucose in the above method.

| e |


https://dl.doubtnut.com/l/_UscUicIooJV0
https://dl.doubtnut.com/l/_MkxVXYlLZogh

& Wwatch Video Solution I

44, Fresh tomatoes are a better source of
vitamin C than those which have been stored

for sometime. Why?

° Watch Video Solution

45. Name the purine and pyrimidine bases

present: in DNA and RNA?

o Watch Video Solution



https://dl.doubtnut.com/l/_MkxVXYlLZogh
https://dl.doubtnut.com/l/_uMh9V6qmRGBu
https://dl.doubtnut.com/l/_cfezXZXesIXo

46. How is oxygen replenished in our

atmosphere?

o Watch Video Solution

47. B.complex is an often prescribed vitamin?

What is complex about it and what is its use?

o Watch Video Solution



https://dl.doubtnut.com/l/_lmlsv5FE5H4B
https://dl.doubtnut.com/l/_alj3KPMYT1Z9

48. Group B vitamins except vitamin Bjs

should be supplied regularly in diet. Why?

o Watch Video Solution

49. Why amino acid is amphoteric in nature.

Explain:

o Watch Video Solution



https://dl.doubtnut.com/l/_LHciFhd7M7Vg
https://dl.doubtnut.com/l/_Mj2qVIj3Lb6J

50. Give reason for the following: On
electrolysis in acidic solution, amino acids
migrate towards cathode while in alkaline
solution these migrate towards anode. ii) The
mono amine monocarboxylic acids have two

p™ values.

o Watch Video Solution

51. Glucose and fructose give the same

osazone. Explain.

| & I


https://dl.doubtnut.com/l/_ZPgviKjnZpnX
https://dl.doubtnut.com/l/_udlgBADgD9ij

| ¥ Watch Video Solution |

52. Two samples of DNA, A and B have melting.
temperatures T,,340 and 350 K respectively.
Can you draw any conclusion from these data

regarding their base content.

o Watch Video Solution

53. An optically active amino acid A can exist in
three forms depending upon the pH of the

medium. If the molecular formula of '(A)" is C 3


https://dl.doubtnut.com/l/_udlgBADgD9ij
https://dl.doubtnut.com/l/_s7cPSo3UDLLD
https://dl.doubtnut.com/l/_10IUJWg3Vx33

H 7 NO 2' write 1) structure of compound (A)
inaqueous medium. What are such ions
called?. 2) In which medium will the cationic
form of compound '(A)' exist? 3) In alkaline
medium, towards which electrode Field will

the compound migrate in electric field?

° Watch Video Solution

54. i) Give the Fischer projection of L-glucose
i) What is the product 6f reaction of L-glucose

with Tollen's reagent.

| e |


https://dl.doubtnut.com/l/_10IUJWg3Vx33
https://dl.doubtnut.com/l/_7DHthoyk0cBR

& Wwatch Video Solution I

55. Name the following: i) An a -amino acid
which is not optically active. ii) Pyrimidine
bases present in RNA iii) The secondary
structure of proteins |Iv) The sweetest
carbohydrate v) A reducing sugar and a non-

reducing sugar

° Watch Video Solution



https://dl.doubtnut.com/l/_7DHthoyk0cBR
https://dl.doubtnut.com/l/_MNA3sQpORibf

56. a) Name the following: 1) A water soluble
vitamin 2) An oil soluble vitamin 3) A vitamin
which is neither soluble in water nor is fat 4)
The disease caused. by deficiency of vitamin
'B1" 5) The diseases caused by deficiency of
vitamin C' b) What do you understand by

avitaminosis?

o Watch Video Solution



https://dl.doubtnut.com/l/_Yd5R6cCJqoQQ

57. During a seminar session, presenter said
that, there is two type of nucleic acids "DNA
and RNA" Identify the sugar that is present in
DNA and RN A Give thé differences between

DNA.and RNA.

o Watch Video Solution

58. Complete the following table TABLE

o View Text Solution



https://dl.doubtnut.com/l/_fs80o1GfCyOs
https://dl.doubtnut.com/l/_68VkHssG1fKB
https://dl.doubtnut.com/l/_HevhPaQk5keI

59. Starch on enzymatic hydrolysis by diastase
gives a reducing disaccharide ‘A which
undergoes hydrolysis by enzyme maltase to
form ‘B’ which is also a reducing sugar. 1.
Identify the compound ‘A" and ‘B’ with suitable
chemical equations. 2. Explain the term

reducing sugar.

o Watch Video Solution

60. Why do proteins form an Indispensable

part of our food?


https://dl.doubtnut.com/l/_HevhPaQk5keI
https://dl.doubtnut.com/l/_tXS72n8U1bEw

° Watch Video Solution

61. i. What are the two good sources of

vitamin'A' ?

o Watch Video Solution

62. Glucose reacts with X number of molecules
of phenylhydrazine to yield osazone.The value

of X is

A. Three


https://dl.doubtnut.com/l/_tXS72n8U1bEw
https://dl.doubtnut.com/l/_YIQ5ccIsB2J6
https://dl.doubtnut.com/l/_NTreg1oiOfpr

B. Two

C.One

D. Four

Answer: A

o Watch Video Solution

63. The disaccharide present in milk is

A. Maltose

B. Galactose


https://dl.doubtnut.com/l/_NTreg1oiOfpr
https://dl.doubtnut.com/l/_8r4oqPBoKetn

C. Sucrose

D. Lactose

Answer: D

° Watch Video Solution

64. Glucose reacts with acetic anhydride to

form

A. monoacetate

B. tetra-acetate


https://dl.doubtnut.com/l/_8r4oqPBoKetn
https://dl.doubtnut.com/l/_TncEFVrURT9e

C. penta-acetate

D. hexa-acetate

Answer: C

° Watch Video Solution

65. Which of the following is a ketohexose?

A. Fructose

B. Maltose

C. Glucose


https://dl.doubtnut.com/l/_TncEFVrURT9e
https://dl.doubtnut.com/l/_Q4RgDa8PSjU5

D. Ribose

Answer: A

o Watch Video Solution

66. Which carbohydrate is an

constitutent of plant cells?

A. starch

B. Cellulose

C. Sucrose

essential


https://dl.doubtnut.com/l/_Q4RgDa8PSjU5
https://dl.doubtnut.com/l/_3z9WUnvvLMfD

D. Vitamins

Answer: B

o Watch Video Solution

67. Complete hydrolysis of cellulose gives

A. L-glucose

B. D-fructose

C. D-ribose

D. D- glucose


https://dl.doubtnut.com/l/_3z9WUnvvLMfD
https://dl.doubtnut.com/l/_sTuaD63vhPyC

Answer: D

o Watch Video Solution

68. The carbohydrate which cannot be

hydrolysed by the human digestive system is

A. starch

B. Glycogen

C. Cellulose

D. all the above


https://dl.doubtnut.com/l/_sTuaD63vhPyC
https://dl.doubtnut.com/l/_YkiT59xF2ZaT

Answer: C

o Watch Video Solution

69. Methyl- a-D-glucoside and methyl [(-D-

glucoside are : epimers, anomers,

enantiomers, conformational diastereomers

A. epimers

B. anomers

C. enantiomers

D. conformational diastereomers


https://dl.doubtnut.com/l/_YkiT59xF2ZaT
https://dl.doubtnut.com/l/_TlMbGjUDQ7mK

Answer: B

o Watch Video Solution

70. Cellulose is soluble in

A. ammoniacal cupric hydroxide solution

B. organic solvents

C. water

D. none of these

Answer: A


https://dl.doubtnut.com/l/_TlMbGjUDQ7mK
https://dl.doubtnut.com/l/_GdPPOU17e1id

O Watch Video Solution

71. Pick out the incorrect statements from the
following: 1) Glucose exists in two differént
crystalline forms. « — D -glucoseand 8 — D -
glucose 2)a — D -glucose and 8 — D -glucose
are anomers 3)a — D-glucose and B — D-
glucose are enantiomers 4)cellulose is, a
straight chain polysaccharide made of only 3 -
D-glucose units 5)Starch is a mixture of
amylose and amylopectin, both contain

unbranched chain of a — D-glucose in its.


https://dl.doubtnut.com/l/_GdPPOU17e1id
https://dl.doubtnut.com/l/_TxIB2Mx0719a

A.1and 2 only

B.2 and 3 only

C.3 and 4 only

D.3 and 5 only

Answer: D

° Watch Video Solution

72. alpha-D(+) glucose and beta-D(+) glucose

are


https://dl.doubtnut.com/l/_TxIB2Mx0719a
https://dl.doubtnut.com/l/_f0ioPYsdTdCS

A. enantimers

B. conformers

C. epimers

D. anomers

Answer: D

° Watch Video Solution

73. Which is an example of a non-reducing

sugar


https://dl.doubtnut.com/l/_f0ioPYsdTdCS
https://dl.doubtnut.com/l/_dHzKsinkpY1A

A. Sucrose

B. Lactose

C. Maltose

D. Cellulose

Answer: A

o Watch Video Solution

74.Lactose on hydrolysis yields

A. glucose


https://dl.doubtnut.com/l/_dHzKsinkpY1A
https://dl.doubtnut.com/l/_V70Mvahf0VAB

B. fructose

C. Glucose and fructose

D. glucose and galactose

Answer: D

o Watch Video Solution

75. The pair of compounds in which both the
compounds give positive test with Tollen's

reagent is : glucose and sucrose, fructose and


https://dl.doubtnut.com/l/_V70Mvahf0VAB
https://dl.doubtnut.com/l/_9PLDca17HGoj

sucrose, acetophenone and hexaneal, glucose

and fructose

A. glucose and sucrose

B. fructose and sucrose

C. acetophenone and hexaneal

D. glucose and fructose

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9PLDca17HGoj

76. The two forms of D-glucopyranose are

called

A. enantiomers

B. epimers

C. anomers

D. diasteromers

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qKELZT1VUb8w
https://dl.doubtnut.com/l/_GohcHAMLIflY

77.The helical structure of protein is stablised

by

A. peptide bonds

B. dipeptide bonds

C. hydrogen bonds

D. vander Waals forces

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GohcHAMLIflY

78. Number of chiral carbons in beta-D(+)

glucose is

A. six

B. three

C. four

D. five

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eUZZSlwHWF80
https://dl.doubtnut.com/l/_ELEqNkXhae2f

79. Which is not a protein

A. wool

B. nail

C. hair

D. cellulose

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ELEqNkXhae2f

80. Carbohydrates are stored in human body

as the polysaccharide

A. starch

B. Glycogen

C. galactose

D. fructose

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yJPSY0JQpxUO
https://dl.doubtnut.com/l/_ZJ5czTF2ApRB

81. Sucrose on hydrolysis gives

A. glucose + glucose

B. glucose +galactose

C. glucose + fructose

D. glucose +lactose

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZJ5czTF2ApRB

82. During the process of digestion, the
proteins present in food materials are
hydrolysed into amino acids.The two enzymes
involved in the process are

A. invertase and zymase

B. amylase and maltase

C. diastase and lipase

D. pepsin and trypsin

Answer: D

I ° Wiak~hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_o2bK8xDvdKc0

YVCILLIL VI INAGINIE L )

8. The secondary structure of aprotein refers

to

A. fixed configuration of the polypetide

back=bone

B. 'alpha’ - helical backbone

C. hydrophobic interactions

D. sequence of 'alpha' -amino acids

Answer: B



https://dl.doubtnut.com/l/_o2bK8xDvdKc0
https://dl.doubtnut.com/l/_DNG9dFFEBAaV

Watch Video Solution

84. Denaturation of protein

A.disrupts the primary or secondary or

tertiary sturucture of protein

B. disrupts the secondary and tertiary

structures only

C.disrupts all the primary -secondary and

dtertiary and even the quanternary

sturcture of protein


https://dl.doubtnut.com/l/_DNG9dFFEBAaV
https://dl.doubtnut.com/l/_uAVcGStqqhU1

D.will not affect the orignal bilogical

activity

Answer: B

o Watch Video Solution

85. The function of enzymes in the living

system is to

A. transport oxygen

B. provide immunity


https://dl.doubtnut.com/l/_uAVcGStqqhU1
https://dl.doubtnut.com/l/_fYi0EE7exSOC

C. catalyse biochemical reacation

D. provide energy

Answer: C

o Watch Video Solution

86. The efficiency of an enzyme to catalyse a

reaction is due to its capacity to

A.reduce the ativation energy of the

reaction


https://dl.doubtnut.com/l/_fYi0EE7exSOC
https://dl.doubtnut.com/l/_3z2XlthW2BpG

B. form strong enzyme susbtrate complex

C.decrease the bond energies of all the

substrate molecules

D. alter the substate gemetry of fit into the

shape of the enzyme molecuel

Answer: A

° Watch Video Solution

87. The human body does not produce


https://dl.doubtnut.com/l/_3z2XlthW2BpG
https://dl.doubtnut.com/l/_6GDm0nAhsRBF

A. enzymes

B. DNA

C. vitamins

D. hormones

Answer: C

° Watch Video Solution

88. The vitamins absorbed from intestine

along with fats are


https://dl.doubtnut.com/l/_6GDm0nAhsRBF
https://dl.doubtnut.com/l/_w8LH8PRdwI9g

A.AD

B.AB

C.AC

D.D,B

Answer: A

o Watch Video Solution

89. The vitamin which is neither soluble in

water nor in fat is


https://dl.doubtnut.com/l/_w8LH8PRdwI9g
https://dl.doubtnut.com/l/_v9vWoijywdTg

A. biotin

B. phylloquinone

C.thiamine

D. calciferol

Answer: A

° Watch Video Solution

90. Which of the following is water soluble?

A.vitamin E


https://dl.doubtnut.com/l/_v9vWoijywdTg
https://dl.doubtnut.com/l/_O3jhumeaM7qW

B. vitamin K

C.vitamin A

D. VitaminB

Answer: D

o Watch Video Solution

91. Vitamin B; is : Riboflavin, Cobalamin,

thiamine, pyrodoxine

A. Riboflavin


https://dl.doubtnut.com/l/_O3jhumeaM7qW
https://dl.doubtnut.com/l/_4Q74YnAxNnK1

B. Cobalamin

C. thiamine

D. pyrodoxine

Answer: C

o Watch Video Solution

92. Which of the following biomolecules is

insoluble in water?

A. alpha- keratin


https://dl.doubtnut.com/l/_4Q74YnAxNnK1
https://dl.doubtnut.com/l/_8xuvnm6CJUjs

B. heamoglobin

C.ribo-nucleose

D. adenine

Answer: A

o Watch Video Solution

93. Which of the following is a vitamin

A. benzoic acid

B. Ascorbic acid


https://dl.doubtnut.com/l/_8xuvnm6CJUjs
https://dl.doubtnut.com/l/_dbRB0e8cJS87

C. oxalic acid

D. formic acid

Answer: B

° Watch Video Solution

94. Ergocalciferol is name of vitamin

A A

B.B

C.C


https://dl.doubtnut.com/l/_dbRB0e8cJS87
https://dl.doubtnut.com/l/_C7ttOuWaqEpV

D.D

Answer: D

o Watch Video Solution

95. Which is an example ofglobular protein?

A. Myosin

B. collagen

C. keratin

D. heamoglobin


https://dl.doubtnut.com/l/_C7ttOuWaqEpV
https://dl.doubtnut.com/l/_Awo42lmJDxrp

Answer: D

o Watch Video Solution

96. Enzymes belong to which class of

compounds?

A. polysaccharides

B. polypeptides

C. Polynitroheterocyclic compounds

D. Hydrocarbons


https://dl.doubtnut.com/l/_Awo42lmJDxrp
https://dl.doubtnut.com/l/_MjyaBJ4Cvd8j

Answer: B

o Watch Video Solution

97. Enzymes are

A. Fatty acids

B. Vitamins

C. Proteins

D. none of these

Answer:


https://dl.doubtnut.com/l/_MjyaBJ4Cvd8j
https://dl.doubtnut.com/l/_dkGttwGGEcEi

° Watch Video Solution

98. Which is not an amino acid? glycine,

alanine, histidine, benzidine

A. glycine

B. alamine

C. histidine

D. benzidine

Answer: D

| 8 l


https://dl.doubtnut.com/l/_dkGttwGGEcEi
https://dl.doubtnut.com/l/_sSc3P0Nzx6kT

99. In nucleic acids;the sequence s
phosphate -base -sugar, sugar-phosphate-
base, phosphate -sugar-base, base -phosphate
sugar

A. phosphate -base -sugar

B. sugar-phosphate-base

C. phosphate -sugar-base

D. base -phosphate sugar


https://dl.doubtnut.com/l/_sSc3P0Nzx6kT
https://dl.doubtnut.com/l/_DYwJI4JB1vXj

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DYwJI4JB1vXj

